#events

numu, cc, E = 500, Ma = 800

0.04 A

0.02 A

— (r-n)/(r+n)

0.00 A

—0.02 A

—0.04 A

0.05

0.10

0.15 0.20 0.25 0.30 0.35
Tk




#events

numu, nc, E = 500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.15

0.20

0.25 0.30 0.35 0.40
Tk

0.45

0.50




#events

numu, cc, E = 500, Ma = 1000

0.005 -

0.000 A

—0.005 A

—0.010 A

— (r-n)/(r+n)

0.05

0.10

0.15 0.20 0.25 0.30 0.35
Tk




numu, nc, E = 500, Ma = 1000

0.005

0.000 A

—0.005 A

#events

—0.010 A

—0.015 A

— (r-n)/(r+n)

0.15

0.20

0.25

0.30

Tk

0.35

0.40

0.45

0.50




#events

numu, cc, E = 500, Ma = 1200

— (r-n)/(r+n)

0.015 A

0.010 A

0.005 -

0.000 -

—0.005 -

0.05 0.10 0.15 0.20 0.25 0.30 0.35
Tk



#events

numu, nc, E = 500, Ma = 1200

0.06 A

— (r-n)/(r+n)

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00 A

—0.01 A

0.15 0.20 0.25 0.30 0.35 0.40 0.45 0.50
Tk



#events

numu, cc, E = 1000, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.1

0.2

0.3 0.4 0.5 0.6 0.7 0.8 0.9
Tk




#events

numu, nc, E = 1000, Ma = 800

—— (r-n)/(r+n)
0.04
0.02 A
0.00 -
—0.02 -
—0.04 -
0f2 0f3 Of4 0f5 0i6 0i7 0i8 0i9 1i0

Tk



#events

numu, cc, E = 1000, Ma = 1000

0.14

— (r-n)/(r+n)

0.12 A

0.10 A

0.08 A

0.06 A

0.04 A

0.02 A

0.00 A

0.1 0.2 0.3 0.4 0.5 0.6 0.7 0.8 0.9
Tk



#events

numu, nc, E = 1000, Ma = 1000

0.02 A

0.00 A

—0.02 A

—0.04 A

—0.06 A

—0.08 A

—0.10 A

— (r-n)/(r+n)

0.2

0.3

0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tk



#events

numu, cc, E = 1000, Ma = 1200

0.10 A

0.08 A

0.06 A

0.04 A

0.02 A

0.00 A

—0.02 A

— (r-n)/(r+n)

0.1

0.2

0.3

0.4

0.5
Tk

0.6 0.7 0.8 0.9




#events

numu, nc, E = 1000, Ma = 1200

0.00 A

—0.02 A

—0.04 A

—0.06 A

—0.08 A

—0.10 A

—0.12 A

—0.14 A

— (r-n)/(r+n)

-0.16

0.2

0.3

0.4

0.5

0.6
Tk

0.7

0.8 0.9 1.0



#events

numu, cc, E = 1500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.2

0.4 0.6 0.8 1.0
Tk

1.2

1.4




#events

numu, nc, E = 1500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




#events

numu, cc, E = 1500, Ma = 1000

0.03 A

0.02 A

0.01 A

0.00 A

—0.01 A

— (r-n)/(r+n)

0.2

0.4

0.6

0.8
Tk

1.0 1.2 1.4




#events

numu, nc, E = 1500, Ma = 1000

0.02

0.01 A

0.00 A

—0.01 A

—0.02 A

—0.03 A

—0.04 A

— (r-n)/(r+n)

0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




#events

numu, cc, E = 1500, Ma = 1200

0.03 A

0.02 A

0.01 A

0.00 A

—0.01 A

—0.02 A

—0.03 A

—0.04 A

—0.05 A

— (r-n)/(r+n)

0.2 0.4 0.6 0.8 1.0 1.2 1.4
Tk




#events

numu, nc, E = 1500, Ma = 1200

0.02 A

0.01 A

0.00 A

—0.01 A

—0.02 A

—0.03 ~

—0.04 A

—0.05 A

— (r-n)/(r+n)

0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




#events

numubar, cc, E = 500, Ma = 800

0.04 A

0.02 A

— (r-n)/(r+n)

0.00 A

—0.02 A

—0.04 A

0.05

0.10

0.15 0.20 0.25 0.30 0.35
Tk




#events

numubar, nc, E = 500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.25

0.30 0.35 0.40 0.45 0.50
Tk




#events

numubar, cc, E = 500, Ma = 1000

— (r-n)/(r+n)
0.00 A

—0.02 A

—0.04 A

—0.06 A

—0.08 A

0.05 0.10 0.15 0.20 0.25 0.30
Tk

0.35




#events

numubar, nc, E = 500, Ma = 1000

0.08 A

0.06 A

0.04 A

0.02 A

0.00 A

— (r-n)/(r+n)

0.25

0.30 0.35 0.40 0.45 0.50
Tk




#events

numubar, cc, E = 500, Ma = 1200

0004 — (r-n)/(r+n)

—0.05 A

—0.10 A

—0.15 A

—0.20 A

0.05 0.10 0.15 0.20 0.25 0.30
Tk

0.35




#events

numubar, nc, E = 500, Ma = 1200

0.06 A

0.05 A

0.04 A

0.03 A

0.02 A

0.01 A

0.00 A

—0.01 A

—0.02 A

— (r-n)/(r+n)

0.25

0.30

0.35
Tk

0.40

0.45

0.50




#events

numubar, cc, E = 1000, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.1

0.2

0.3 0.4 0.5 0.6 0.7 0.8 0.9
Tk




#events

numubar, nc, E = 1000, Ma = 800

—— (r-n)/(r+n)
0.04
0.02 A
0.00 -
—0.02 -
—0.04 -
0f2 0f3 Of4 0f5 0i6 0i7 0i8 0i9 1i0

Tk



#events

numubar, cc, E = 1000, Ma = 1000

0.4

0.3 A

o
N
1

0.1

0.0 A

— (r-n)/(r+n)

0.1

0.2

0.3 0.4 0.5 0.6 0.7 0.8 0.9
Tk




#events

numubar, nc, E = 1000, Ma = 1000

o
=
1

o
o
1

| | | | | | |
© ©o o o o o o
~ (o)) w ESN w N =
1 1 1 1 1 1 1

— (r-n)/(r+n)

0.2

0.3

0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tk



#events

numubar, cc, E = 1000, Ma = 1200

1.0 A

0.8 1

0.6

0.4 1

0.2

0.0 1

— (r-n)/(r+n)

0.1

0.2

0.3 0.4 0.5 0.6 0.7 0.8 0.9
Tk




#events

numubar, nc, E = 1000, Ma = 1200

0.1 1

0.0 1

—0.1 1

—0.2 1

—0.3 1

—0.4

—0.5 1

— (r-n)/(r+n)

0.2

0.3

0.4 0.5 0.6 0.7 0.8 0.9 1.0
Tk



#events

numubar, cc, E = 1500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.2

0.4 0.6 0.8 1.0
Tk

1.2

1.4




#events

numubar, nc, E = 1500, Ma = 800

0.04 A

0.02 A

0.00 A

—0.02 A

—0.04 A

— (r-n)/(r+n)

0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




#events

numubar, cc, E = 1500, Ma = 1000

0.5 A

0.4 1

o
w
1

.t
N
1

0.1

0.0 -

— (r-n)/(r+n)

0.2

0.4 0.6 0.8 1.0 1.2 1.4
Tk




#events

numubar, nc, E = 1500, Ma = 1000

0.1 1

0.0 1

—0.1 1

—0.2 1

—0.3 1

—0.4

—0.5 1

— (r-n)/(r+n)

-0.6
0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




#events

numubar, cc, E = 1500, Ma = 1200

1.0 A

0.8 A

0.6 1

0.4 1

0.2

0.0 A

— (r-n)/(r+n)

0.2

0.4 0.6 0.8 1.0 1.2 1.4
Tk




#events

numubar, nc, E = 1500, Ma = 1200

0.1

0.0 1

-0.1 -

-0.2 A

— (r-n)/(r+n)

0.2

0.4

0.6 0.8 1.0 1.2 1.4
Tk




